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Överslagsräkning, addition och subtraktion

Ringa in det svar som är bäst.

  1	 18 + 21 ≈	 30	 40	 50	 60

  2	 91 + 48 ≈	 120	 130	 140	 150

  3	 211 + 691 ≈	 700	 800	 900	 1 000

  4	 98 – 39 ≈	 30	 40	 50	 60

  5	 121 – 59 ≈	 30	 40	 50	 60

  6	 495 – 207 ≈	 200	 300	 400	 500

  7	 37 + 52 ≈	 70	 80	 90	 100

  8	 17 + 31 + 53 ≈	 100	 110	 120	 130

  9	 903 – 598 ≈	 250	 300	 350	 400

10	 892 – 213 ≈	 600	 700	 800	 900

11	 495 + 120 + 679 ≈	 1 300	 1 400	 1 500	 1 600

12	 1 208 – 897 ≈	 250	 300	 350	 400

13	 1 000 – 195 – 298 ≈	 400	 450	 500	 550

14	 48 + 18 + 73 ≈	 110	 120	 130	 140

15	 68 + 19 + 43 ≈	 110	 120	 130	 140

16	 898 – 501 ≈	 250	 300	 350	 400
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Överslagsräkning, addition och subtraktion

FACIT

  

  1	 40

  2	 140

  3	 900

  4	 60

  5	 60

  6	 300

  7	 90

  8	 100

  9	 300

10	 700

11	 1 300

12	 300

13	 500

14	 140

15	 130

16	 400
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